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B.Com. DEGREE EXAMINATION —
JUNE 2012.

Second Year

BUSINESS STATISTICS

Time : 3 hours Maximum marks : 75

SECTION A — (3 x 5 = 15 marks)
Answer any THREE questions.

What are the general rules to be followed in
tabulation?

S Lamamuiihn  Cumg Gerupm  Ceuamrigwl
Qurgleumen el Slaer wimeneu?

What are the sources of primary data?

WP Hlane Hseucseflen STIBISET WTeneu?

Explain the components of time series.

sreart (sm_ieuflansuller o I gamisaer aNlems:@s.

Find the arithmetic mean for the following data :
Height: 150 152 154 156 158 160

f: 5 7 9 6 4 10
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owmb: 150 152 154 156 158 160

f: 5 7 9 6 4 10

Find the Co-efficient of correlation between
X and Y from the following data :

n=10 Yx=60Xy=60 Xxy=305 Yx?=400
> y? =580.

Epsaramid  Meurmisaflal®mhgl @l (hmeyds  Csp
sa&EH (e

n=10 Yx=60Xy=60 Xxy=305 Yx?=400
> y? =580.

SECTION B — (4 x 15 = 60 marks)
Answer any FOUR questions.

Calculate standard deviation from the following
data

X: 75 80 8 90 95 100
f: 3 7 18 12 6 4
Qar@ssuul L elughsefambg S elosssams
ser(hLlig
X: 75 80 8 90 95 100
f: 3 7 18 12 6 4
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Find the two regression lines
X: 2 4 5 6 8 11

Y: 18 12 10 8 7 5

@ e QarryCumsa@ sweTUm(hEemar G (hLillg.
X: 2 4 5 6 8 11
Y: 18 12 10 8 7 5

Calculate 3 yearly moving average from the
following data :

Year : 1983 1984 1985 1986 1987
Production: 21 22 23 25 24
Year : 1988 1989 1990 1991 1992

Production: 22 25 26 27 26

&G Qammssiiul_(erer efeurmsaflalmbg 3 eumL
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< 1983 1984 1985 1986 1987
opusd: 21 22 23 25 24

<per( 1988 1989 1990 1991 1992
opusH: 22 25 26 27 26

Calculate Laspeyre’s, Paasche’s and Faqgsher’s
Ideal Indeo number.

Commodity Do P 9 @

A 12 14 20 15
B 8 10 25 25
C 2 4 45 20
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UMEHET p, pP; 9y G
A 12 14 20 15
B 8 10 25 25
C 2 4 45 20

10. Describe the application of statistics in business.

auanflagdled Lerefludlwedier LwemumBaamer afleur.

11. Find median and mode :
X: 5-15 15-25 25-35 35-45 45-55 55-65

f: 8 14 30 16 14 4
EpsanL elurmseiadmbg GeLBla® wHmb sk
saTEH (hs.

X: b5-15 15-25 25-35 35-45 45-55 55-65

f: 8 14 30 16 14 4

12. Describe the various methods of classification with
example.
auamsLIL(HSsdlem LIGCaIM eUMEHMET 2 &TTemTHa]|L 6
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